N MF R ER S ERE IR AT

LAUMAS #5545 JE a8 R B i B TFC-PV-300kg

ULRs
TFC-PV-300kg
TFC-PV-200kg

RFAIL -

LEEEMES— I, BTRANEDMAINR, LAMESIERAYERL

2, B LI ASENGIR. ATEEEN.

3, ERARFHEA 300 kg,

4, BJiE_EHRSRF AISI 304 NEESN (PPV)

5, MRAIEERRA AISI 304 5N, A5 B XS Pz SKRIRS MR A0 RS
IR, SHERERBENFME,

6, BEAAE, RIS REERNZRIEPIRA

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

Y ASER EERAT]

TR -

BN B, B ) IR AAR AR IR N T . A,
R ol ke AR AL KA . K P HOER B X TG WU KSR 4,
ISR — AR T G Sk, A 2 ] g R A 2 A N

P AR B A

NET WEIGHT OF
MAX STATIC LOAD kg FOR LOAD CELLS MOUNTING KIT (kg) CODE

FCK - FCOL 1.7 TFCPV

[ 300 | FcoL 1.7 TFCPV10

Load cell not included,

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

RIS R R EIRAT]

PIEDINOSB2M8 (M8x1.25)
PIEDINOSB2M10 (M10x1.50)

| @60
|
| | PPV
Sy
el
[ 11
load cell
BLOCTFC
— N o *

PIATFC

108

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn

Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

N MF R ER S ERE IR AT

PIATFC
|
ol = )
= x; . 2 - T
o 2% M8x1.25
~
(=] L O
"~ N L A=
'z]
N 4% 39
i P Fan)
oy o =2
P ol 115 10|
o~
o | |
| 135 |

MOUNTING AND PLACING STRUCTURE

| STRUCTURE |

| STRUCTURE

POSSIBLE PPV UPER

POSSIBLE UPPER PLATE POSITIONS

PLATE POSITIONS
o O

°© lo )

oo [

o o] O

(=]
o] =)

o 0O

PPV
BLOCTFC
60
4% @13 26 |
- X0 @315 |
b 7 o 1/ [
i o . Y bt I It I I Dy
n S LU | L/
] g 8 C)
? 0] I o, P08 Dy
o e e
& | 2 | 1
—=r 15 | 90 | 15
-‘1“ 18 |-'—2-‘ 120
—
@ M6x1,~
62.5
L
PIEDINOSB2M10 PIEDINOSB2MS
M10x1.50 M8x1.25
(=] (=]
w w
[n]) (]
o o
L 'C:J_ |
260

MEIERER | IR | R3Ezt{Y

Tel:0755-23002259 sales@sensortop.cn

www.sensortop.cn



http://www.sensortop.cn/

YR LR R R AT

TRE(ERRS | =HIGR | R3EMlizt{Y

www.sensortop.cn  Tel:0755-23002259 sales@sensortop.cn


http://www.sensortop.cn/

	称重传感器丨控制仪表丨应变测试仪

